

**BID2025-32 LEAD SERVICE LINE REPLACEMENT PROGRAM – PHASE 3 FOR A PERIOD OF TWO (2) YEARS FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER, TRENTON WATER WORKS VIRTUAL BID OPENING DATE 7-29-2025 AT 11:00AM**

BID2025-32 LEAD SERVICE LINE REPLACEMENT PROGRAM – PHASE 3 FOR A PERIOD OF TWO (2) YEARS FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER, TRENTON WATER WORKS VIRTUAL BID OPENING DATE 7-29-2025 AT 11:00AM						
NUMBER OF BIDS SUBMITTED	6					
NAME OF PROPOSER	ROMAN E&G CORP	GRADE CONSTRUCTION	DEWCON INC	UNDERGROUND UTILITIES CORP	WATERS & BUGBEE	UTILITIES ONE INC
ADDRESS	14 OGDEN STREET	110 PENNSYLVANIA AVE	P.O. BOX 439	711 COMMERCE ROAD	75 SOUTH GOLD DRIVE	300 W SOMERDALE RD, UNITS
CITY, STATE, ZIP	NEWARK, NJ 07104	PATERSON, NJ 07503	BASKING RIDGE, NJ 07920	LINDEN, NJ 07036	HAMILTON, NJ 08691	VOORHEES TOWNSHIP, NJ 08043
CONTACT NAME	JOSEPH E. BELOTT	RALPH DIACO	FRAM S. DWAY	RICHARD GOMES	CHARLES P. WATERS	SERGHEI BUSMACHIU
TELEPHONE	973 482 1123	973 925 4021	908 832 5710	908 862 8936	609 584 1100	N/A
FAX	973 482 7154	N/A	908 832 0764	908 862 8690	609 584 2200	N/A
E-MAIL	ENGINEER@ROMANEKG.COM	RALPH@GRADECONSTRUCTION.NET	N/A	RGOMES@UCCORP.COM	BIDS@WATERSANDBUGBEE.COM	N/A
BID GUARANTEE (BID BOND OR CERTIFIED/CASHIER'S CHECK)	UNITED STATES FIRE INSURANCE COMPANY 10% W.P.O.A. PAMELA J. BOYLE	LIBERTY MUTUAL INSURANCE COMPANY 10% W.P.O.A. WILLIAM D. HAAS	PHILADELPHIA INDEMNITY INSURANCE COMPANY 10% W.P.O.A. VANESSA MCKENZIE	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA 10% W.P.O.A. SUSAN M WEISLEDER	FIDELITY AND DEPOSIT COMPANY OF MARYLAND 10% W.P.O.A. JANE L. FEDORCZYK	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA 5% W.P.O.A. ANNA P. NOWIK
CONSENT OF SURETY (CERTIFICATE FROM SURETY COMPANY)	UNITED STATES FIRE INSURANCE COMPANY 10% W.P.O.A. PAMELA J. BOYLE	LIBERTY MUTUAL INSURANCE COMPANY 10% W.P.O.A. WILLIAM D. HAAS	PHILADELPHIA INDEMNITY INSURANCE COMPANY 10% W.P.O.A. VANESSA MCKENZIE	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA 10% W.P.O.A. SUSAN M WEISLEDER	FIDELITY AND DEPOSIT COMPANY OF MARYLAND 10% W.P.O.A. JANE L. FEDORCZYK	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA 5% W.P.O.A. MINGCHEN CHI
PERFORMANCE BOND AND LABOR AND MATERIAL PAYMENT BOND	REQUIRED FROM THE AWARDED CONTRACTOR WITH SIGNED CONTRACTS	REQUIRED FROM THE AWARDED CONTRACTOR WITH SIGNED CONTRACTS	REQUIRED FROM THE AWARDED CONTRACTOR WITH SIGNED CONTRACTS	REQUIRED FROM THE AWARDED CONTRACTOR WITH SIGNED CONTRACTS	REQUIRED FROM THE AWARDED CONTRACTOR WITH SIGNED CONTRACTS	REQUIRED FROM THE AWARDED CONTRACTOR WITH SIGNED CONTRACTS
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA N#1 6/26/2025	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA N#2 7/23/2025	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NOTICE OF INTENT TO SUBCONTRACT SUBCONTRACTORS LICENSING	YES, SEE ATTACHED INCLUDED	YES, SEE ATTACHED INCLUDED	YES, SEE ATTACHED INCLUDED	YES, SEE ATTACHED INCLUDED	YES, SEE ATTACHED INCLUDED	NONE N/A
DISCLOSURE OF OWNERSHIP STATEMENT(MANDATORY)	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION AFFIDAVIT MANDATORY	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICAN WITH DISABILITIES ACT OF 1990 LANGUAGE (MANDATORY)	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DEBARMENT NOTICE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATION OF NON-DEBARMENT FOR FEDERAL GOVERNMENT CONTRACTS	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	REQUIRED PRIOR TO BE AWARDED
CITY OF TRENTON ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	REQUIRED PRIOR TO BE AWARDED
REQUIRED EVIDENCE EEO/AFFIRMATIVE ACTION REGULATION CERTIFICATE (MANDATORY)	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EQUAL EMPLOYMENT OPPORTUNITY LANGUAGE (EXHIBIT A-B) (MANDATORY)	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTMENT ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE (PRIOR TO AWARD)	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	REQUIRED PRIOR TO BE AWARDED
NJ PUBLIC WORKS CONTRACTOR REGISTRATION CERTIFICATE	CERT#693649 EXP 03/09/2026	CERT#638293 EXP 09/09/2025	CERT#632659 EXP 09/15/2025	CERT#55489 EXP 08/25/2025	CERT#60176 EXP 04/03/2026	REQUIRED PRIOR TO BE AWARDED
EIC (EMPLOYEE INFORMATION CERTIFICATE)	CERT#60187 EXP 12/15/2027	CERT#30192 EXP 02/15/2027	REQUIRED FROM AWARDED BIDDER WITH SIGNED CONTRACTS	CERT#59526 EXP 07/15/2032	CERT#22282 EXP 01/15/2028	REQUIRED FROM AWARDED BIDDER WITH SIGNED CONTRACTS
PREVAILING WAGE STATEMENT EQUIPMENT CERTIFICATION	INCLUDED INCLUDED	INCLUDED INCLUDED	INCLUDED INCLUDED	INCLUDED INCLUDED	INCLUDED INCLUDED	INCLUDED NOT INCLUDED
TOTAL BID BASE	\$2,888,933.00	\$2,946,366.98	\$3,078,830.00	\$3,284,157.00	\$3,762,920.00	\$7,635,604.60
TOTAL SUPPLEMENTAL PRICE IN FIGURES	\$185,616.00	\$169,628.34	\$173,652.00	\$188,876.00	\$157,201.00	\$1,665,508.00
60-DAY EXTENSION COMPLIANCE	YES	YES	YES	YES	YES	NO
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES	YES	YES	NO
EXCEPTIONS	NONE	NONE	NONE	NONE	NONE	NONE
THREE (3) REFERENCES	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
FATAL FLAW	NONE	NONE	NONE	NONE	NONE	MULTIPLE DOCUMENTS ARE MISSING

**PROPOSAL FORM – BID ITEMS**

**LEAD SERVICE LINE REPLACEMENT PROGRAM MANAGEMENT PHASE III**  
**CITY OF TRENTON, COUNTY OF MERCER, STATE OF NEW JERSEY**  
**FILE No.: SCE-R14020.011**

PROPOSAL FORM TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III CONTRACT NO. 2025-32 BASE BID <small>THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.</small>					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A. WATER SERVICE REPLACEMENT TYPE 1 (MAIN TO CURB STOP) Three Thousand One Hundred Sixty Dollars and No Cents (write Unit Price in words)	330	EACH	\$ 3,160.00	\$ 1,042,800.00
	B. WATER SERVICE REPLACEMENT TYPE 2 (CURB STOP TO WATER METER) Three Thousand One Hundred Sixty Dollars and No Cents (write Unit Price in words)	270	EACH	\$ 3,160.00	\$ 853,200.00
	C. NEW CORPORATION STOP AT MAIN One Hundred Twenty-Five Dollars and No Cents (write Unit Price in words)	16	EACH	\$ 125.00	\$ 2,000.00
	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN One Dollar and No Cents (write Unit Price in words)	6	EACH	\$ 1.00	\$ 6.00
	E. RIGHT-OF-ENTRY NOT GRANTED One Dollar and No Cents (write Unit Price in words)	16	EACH	\$ 1.00	\$ 16.00
	F. ACCESS NOT PROVIDED One Dollar and No Cents (write Unit Price in words)	16	EACH	\$ 1.00	\$ 16.00
	G. CURB STOP IN CONCRETE Six Hundred Fifty Dollars and No Cents (write Unit Price in words)	189	EACH	\$ 650.00	\$ 122,850.00
	H. LONG-SIDE REPLACEMENTS Five Hundred Fifty Dollars and No Cents (write Unit Price in words)	198	EACH	\$ 550.00	\$ 108,900.00
	I. NEW CURB BOX One Hundred Forty Dollars and No Cents (write Unit Price in words)	100	EACH	\$ 140.00	\$ 14,000.00
	J. WATER SAMPLING One Hundred Thirty Dollars and No Cents (write Unit Price in words)	150	EACH	\$ 130.00	\$ 19,500.00
2.	TEST PIT AT CURB STOP One Thousand Dollars and No Cents (write Unit Price in words)	100	EACH	\$ 1,000.00	\$ 100,000.00

Roman E&G Corp

<p style="text-align: center;"><b>PROPOSAL FORM</b>  <b>TRENTON WATER WORKS</b>  <b>LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III</b>  <b>CONTRACT NO. 2025-32</b>  <b>BASE BID</b></p> <p style="text-align: center;">THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.</p>					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
3.	A. FINAL PAVEMENT RESTORATION (MILLING AND PAVING) <u>Twenty-Seven Dollars and No Cents</u> (write Unit Price in words)	2,310	SY	\$ 27.00	\$ 62,370.00
	B. FINAL RESTORATION COMPLETED <u>Five Hundred Dollars and No Cents</u> (write Unit Price in words)	270	SY	\$ 500.00	\$ 135,000.00
4.	ENVIRONMENTAL PROTECTION <u>Five Thousand Dollars and No Cents</u> (write Unit Price in words)		LUMP SUM	\$ 5,000.00	\$ 5,000.00
5.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER ALLOWANCE <u>ONE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
6.	TRAFFIC CONTROL ALLOWANCE <u>ONE HUNDRED FOUR THOUSAND AND THREE HUNDRED FIFTY DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$104,350	\$104,350
7.	PERMITS FEE ALLOWANCE <u>TWO HUNDRED EIGHTEEN THOUSAND AND NINE HUNDRED TWENTY-FIVE DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$218,925	\$218,925
<p>TOTAL BID PRICE IN FIGURES (1 through 7) <u>\$ 2,888,933.00</u></p> <p>TOTAL BID PRICE IN WORDS (1 through 7) <u>Two Million Eight Hundred Eighty-Eight Thousand Nine Hundred Thirty-Three Dollars and No Cents</u></p>					

<b>PROPOSAL FORM</b> <b>TRENTON WATER WORKS</b> <b>LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III</b> <b>CONTRACT NO. 2025-32</b> <b>SUPPLEMENTAL BID</b>					
<small>THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.</small>					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET One Dollar and No Cents  (write Unit Price in words)	16	CY	\$ 1.00	\$ 16.00
S-2A.	FILL MATERIALS - IMPORTED COMMON FILL One Dollar and No Cents  (write Unit Price in words)	26	CY	\$ 1.00	\$ 26.00
S-2B.	CRUSHED STONE One Dollar and No Cents  (write Unit Price in words)	5	CY	\$ 1.00	\$ 5.00
S-2C.	DENSE-GRADED AGGREGATE One Hundred Dollars and No Cents  (write Unit Price in words)	10	CY	\$ 100.00	\$ 1,000.00
S-2D.	FLOWABLE FILL Two Hundred Dollars and No Cents  (write Unit Price in words)	5	CY	\$ 200.00	\$ 1,000.00
S-3A.	FINAL PAVEMENT CURB TO CURB Twenty-Five Dollars and No Cents  (write Unit Price in words)	5,000	SY	\$ 25.00	\$ 125,000.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE Four Hundred Fifty Dollars and No Cents  (write Unit Price in words)	16	SY	\$ 450.00	\$ 7,200.00
S-3C.	GRAVEL DRIVEWAY One Dollar and No Cents  (write Unit Price in words)	8	SY	\$ 1.00	\$ 8.00
S-3D.	BRICK OR ROCK PAVERS One Hundred Dollars and No Cents  (write Unit Price in words)	26	SY	\$ 100.00	\$ 2,600.00
S-3E	ASPHALT PRICE ADJUSTMENT ALLOWANCE  <u>EIGHTEEN THOUSAND AND TWO HUNDRED SIXTY-ONE DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$ 18,261	\$ 18,261
S-4.	CONTAMINATED SOIL AND TRANSPORTATION Two Hundred Fifty Dollars and No Cents  (write Unit Price in words)	10	CY	\$ 250.00	\$ 2,500.00
S-5.	MISCELLANEOUS CONCRETE Two Thousand Eight Hundred Dollars and No Cents  (write Unit Price in words)	10	CY	\$ 2,800.00	\$ 28,000.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-5)		\$ 185,616.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-5)		One Hundred Eighty-Five Thousand Six Hundred Sixteen \$ Dollars and No Cents			
<b>SUBURBAN CONSULTING ENGINEERS, INC</b>					

**TOTAL BID BASE + SUPP \$3,074,549.00**

Three Million Seventy-Four Thousand Five Hundred Forty Nine Dollars and No Cents

**Proposal Form**

**PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID**

**(MANDATORY IF APPLICABLE )**

NAME Cooper Mechanical and Plumbing  
ADDRESS 40 Patterson Ave  
CITY, STATE, ZIP Hamilton, NJ 08610  
TELEPHONE: 609-658-7242  
FAX NO. n/a  
TRADE Plumbing  
LICENSE NO. 36BI01079000

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

**PROPOSAL FORM – BID ITEMS**

**LEAD SERVICE LINE REPLACEMENT PROGRAM MANAGEMENT PHASE III**  
**CITY OF TRENTON, COUNTY OF MERCER, STATE OF NEW JERSEY**  
**FILE No.: SCE-R14020.011**

PROPOSAL FORM  
TRENTON WATER WORKS  
LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III  
CONTRACT NO. 2025-32

THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A. WATER SERVICE REPLACEMENT TYPE 1 (MAIN TO CURB STOP) Three Thousand <u>Three</u> Hundred <u>Sixty</u> Dollars and <u>Eighty Five</u> Cents (write Unit Price in words)	330	EACH	\$ 3,360.85	\$ 1,109,080.50
	B. WATER SERVICE REPLACEMENT TYPE 2 (CURB STOP TO WATER METER) Three Thousand <u>Seventy Seven</u> Dollars and <u>Twenty Two</u> Cents (write Unit Price in words)	270	EACH	\$ 3,077.22	\$ 830,849.40
	C. NEW CORPORATION STOP AT MAIN Two Hundred <u>Fifty Eight</u> Dollars and <u>Thirty Four</u> Cents (write Unit Price in words)	16	EACH	\$ 258.34	\$ 4,133.44
	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN One Thousand <u>One Hundred One</u> Dollars and <u>Thirteen</u> Cents (write Unit Price in words)	6	EACH	\$ 1,101.13	\$ 6,606.78
	E. RIGHT-OF-ENTRY NOT GRANTED One Hundred <u>Eighty Nine</u> Dollars and <u>Ninety Two</u> Cents (write Unit Price in words)	16	EACH	\$ 189.92	\$ 3,038.72
	F. ACCESS NOT PROVIDED One Hundred <u>Eighty Nine</u> Dollars and <u>Ninety Two</u> Cents (write Unit Price in words)	16	EACH	\$ 189.92	\$ 3,038.72
	G. CURB STOP IN CONCRETE One Hundred <u>Thirty Eight</u> Dollars and <u>Ninety Five</u> Cents (write Unit Price in words)	189	EACH	\$ 138.95	\$ 26,261.55
	H. LONG-SIDE REPLACEMENTS Nine Hundred <u>Forty</u> Dollars and <u>Sixty Four</u> Cents (write Unit Price in words)	198	EACH	\$ 940.64	\$ 186,246.72
	I. NEW CURB BOX Two Hundred <u>Twenty Seven</u> Dollars and <u>Eighty Three</u> Cents (write Unit Price in words)	100	EACH	\$ 227.83	\$ 22,783.00
	J. WATER SAMPLING Two Hundred <u>Seventy Nine</u> Dollars and <u>Eighty Two</u> Cents (write Unit Price in words)	150	EACH	\$ 279.82	\$ 41,973.00
2.	TEST PIT AT CURB STOP Five Hundred <u>Eighty</u> Dollars and <u>Ninety Five</u> Cents (write Unit Price in words)	100	EACH	\$ 580.95	\$ 58,095.00

Grade Construction

**PROPOSAL FORM**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III**  
**CONTRACT NO. 2025-32**

**BASE BID**

THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
3.	A. FINAL PAVEMENT RESTORATION (MILLING AND PAVING)  <u>Twenty Six Dollars and Eighteen Cents</u> (write Unit Price in words)	2,310	SY	\$ 26.18	\$ 60,475.80
	B. FINAL RESTORATION COMPLETED  <u>One Hundred Sixty Eight Dollars and Twenty Five Cents</u> (write Unit Price in words)	270	SY	\$ 168.25	\$ 45,427.50
4.	ENVIRONMENTAL PROTECTION  <u>One Hundred Twenty Five Thousand Eighty One Dollars and Eighty Five Cents</u> (write Unit Price in words)		LUMP SUM	\$ 125,081.85	\$ 125,081.85
5.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER ALLOWANCE  <u>ONE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
6.	TRAFFIC CONTROL ALLOWANCE  <u>ONE HUNDRED FOUR THOUSAND AND THREE HUNDRED FIFTY DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$104,350	\$104,350
7.	PERMITS FEE ALLOWANCE  <u>TWO HUNDRED EIGHTEEN THOUSAND AND NINE HUNDRED TWENTY-FIVE</u> <u>DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$218,925	\$218,925
TOTAL BID PRICE IN FIGURES (1 through 7)		\$ 2,946,366.98			
TOTAL BID PRICE IN WORDS (1 through 7)		\$ Two Million Nine Hundred Forty Six Thousand Three			
		\$ Hundred Sixty Six Dollars and Ninety Eight Cents			

## SUBURBAN CONSULTING ENGINEERS, INC



Dr. S. S. Sankar

PROPOSAL FORM  
TRENTON WATER WORKS  
LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III  
CONTRACT NO. 2025-32  
SUPPLEMENTAL BID  
THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>One Hundred Thirty Three Dollars and Nine Cents</u> (write Unit Price in words)	16	CY		
S-2A.	FILL MATERIALS - IMPORTED COMMON FILL <u>Seventy Nine Dollars and Twenty Seven Cents</u> (write Unit Price in words)	26	CY	\$ 133.09	\$ 2,129.44
S-2B.	CRUSHED STONE <u>Sixty Six Dollars and Fifty Four Cents</u> (write Unit Price in words)	5	CY	\$ 79.27	\$ 2,061.02
S-2C.	DENSE-GRADED AGGREGATE <u>Fifty Five Dollars and Sixty One Cents</u> (write Unit Price in words)	10	CY	\$ 66.54	\$ 332.70
S-2D.	FLOWABLE FILL <u>Two Hundred Seven Dollars and Thirty Eight Cents</u> (write Unit Price in words)	5	CY	\$ 55.61	\$ 556.10
S-3A.	FINAL PAVEMENT CURB TO CURB <u>Twenty Five Dollars and Twenty One Cents</u> (write Unit Price in words)	5,000	SY	\$ 207.38	\$ 1,036.90
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>One Hundred Twenty Dollars and Forty Five Cents</u> (write Unit Price in words)	16	SY	\$ 25.21	\$ 126,050.00
S-3C.	GRAVEL DRIVEWAY <u>Seventy Three Dollars and Sixty Five Cents</u> (write Unit Price in words)	8	SY	\$ 120.45	\$ 1,927.20
S-3D.	BRICK OR ROCK PAVERS <u>Two Hundred Thirty Three Dollars and Thirteen Cents</u> (write Unit Price in words)	26	SY	\$ 73.65	\$ 589.20
S-3E	ASPHALT PRICE ADJUSTMENT ALLOWANCE <u>EIGHTEEN THOUSAND AND TWO HUNDRED SIXTY-ONE DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$ 233.13	\$ 6,061.38
S-4.	CONTAMINATED SOIL AND TRANSPORTATION <u>One Hundred Twenty Eight Dollars and Fifty One Cents</u> (write Unit Price in words)	10	CY	\$ 18,261	\$ 18,261
S-5.	MISCELLANEOUS CONCRETE <u>Nine Hundred Thirty Three Dollars and Eighty Three Cents</u> (write Unit Price in words)	10	CY	\$ 128.51	\$ 1,285.10
				\$ 933.83	\$ 9,338.30
	TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-5)			\$ 169,628.34	
	TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-5)			One Hundred Sixty Nine Thousand Six Hundred \$ Twenty Eight Dollars and Thirty Four Cents	

**PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID**

**(MANDATORY IF APPLICABLE )**

NAME Brian Trematore Plumbing & Heating, Inc.  
ADDRESS 5 Daniel Road E,  
CITY, STATE, ZIP Fairfield, NJ 07004  
TELEPHONE: (973) 227-8330  
FAX NO. \_\_\_\_\_  
TRADE Plumbing  
LICENSE NO. 36BI00692200

NAME SELF PERFORMED IN HOUSE BY GRADE CONSTRUCTION.  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE STRUCTURAL STEEL  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

## PROPOSAL FORM – BID ITEMS

LEAD SERVICE LINE REPLACEMENT PROGRAM MANAGEMENT PHASE III  
CITY OF TRENTON, COUNTY OF MERCER, STATE OF NEW JERSEY  
FILE No.: SCE-R14020.011

PROPOSAL FORM TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III CONTRACT NO. 2025-32 BASE BID					
THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A. WATER SERVICE REPLACEMENT TYPE 1 (MAIN TO CURB STOP) <i>Thirty-Eight Hundred Dollars</i> (write Unit Price in words)	330	EACH	\$ 3800.00	\$ 12,540.00
	B. WATER SERVICE REPLACEMENT TYPE 2 (CURB STOP TO WATER METER) <i>Thirty-Eight Hundred Dollars</i> (write Unit Price in words)	270	EACH	\$ 3800.00	\$ 102,600.00
	C. NEW CORPORATION STOP AT MAIN <i>One Dollar</i> (write Unit Price in words)	16	EACH	\$ 1.00	\$ 16.00
	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN <i>One Dollar</i> (write Unit Price in words)	9	EACH	\$ 1.00	\$ 9.00
	E. RIGHT-OF-ENTRY NOT GRANTED <i>One Dollar</i> (write Unit Price in words)	16	EACH	\$ 1.00	\$ 16.00
	F. ACCESS NOT PROVIDED <i>One Dollar</i> (write Unit Price in words)	16	EACH	\$ 1.00	\$ 16.00
	G. CURB STOP IN CONCRETE <i>One Hundred Dollars</i> (write Unit Price in words)	189	EACH	\$ 400.00	\$ 75,600.00
	H. LONG-SIDE REPLACEMENTS <i>Three Hundred Dollars</i> (write Unit Price in words)	198	EACH	\$ 300.00	\$ 59,400.00
	I. NEW CURB BOX <i>One Dollar</i> (write Unit Price in words)	100	EACH	\$ 1.00	\$ 100.00
	J. WATER SAMPLING <i>One Dollar</i> (write Unit Price in words)	150	EACH	\$ 1.00	\$ 150.00
2.	TEST PIT AT CURB STOP <i>One Hundred Dollars</i> (write Unit Price in words)	100	EACH	\$ 400.00	\$ 40,000.00

Dewcon INC

PROPOSAL FORM TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III CONTRACT NO. 2025-32 BASE BID					
THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.					
Item No.	Bid Item Description <i>(write Unit Price in words)</i>	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
3.	A. FINAL PAVEMENT RESTORATION (MILLING AND PAVING) <i>Seventy-Five Dollars</i>	2,310	SY	\$ 75.00	\$ 173,250.00
	B. FINAL RESTORATION COMPLETED <i>One Hundred Dollars</i>	270	SY	\$ 100.00	\$ 27,000.00
4.	ENVIRONMENTAL PROTECTION <i>One Dollar</i>		LUMP SUM	\$ 1.00	\$ 1.00
5.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER ALLOWANCE <u>ONE HUNDRED THOUSAND DOLLARS</u> <i>(write Unit Price in words)</i>		ALLOWANCE	\$100,000	\$100,000
6.	TRAFFIC CONTROL ALLOWANCE <u>ONE HUNDRED FOUR THOUSAND AND THREE HUNDRED FIFTY DOLLARS</u> <i>(write Unit Price in words)</i>		ALLOWANCE	\$104,350	\$104,350
7.	PERMITS FEE ALLOWANCE <u>TWO HUNDRED EIGHTEEN THOUSAND AND NINE HUNDRED TWENTY-FIVE DOLLARS</u> <i>(write Unit Price in words)</i>		ALLOWANCE	\$218,925	\$218,925
TOTAL BID PRICE IN FIGURES (1 through 7) <i>\$ 3,078,930.00</i>					
TOTAL BID PRICE IN WORDS (1 through 7) <i>Three Million - Seventy-Eight Thousand - Eight Hundred Ninety Dollars</i>					

PROPOSAL FORM TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III CONTRACT NO. 2025-32 SUPPLEMENTAL BID					
THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM, THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <i>One Dollar</i> (write Unit Price in words)	16	CY		
S-2A.	FILL MATERIALS - IMPORTED COMMON FILL <i>One Dollar</i> (write Unit Price in words)	26	CY	\$ 1.00	\$ 16.00
S-2B.	CRUSHED STONE <i>One Dollar</i> (write Unit Price in words)	5	CY	\$ 1.00	\$ 26.00
S-2C.	DENSE-GRADED AGGREGATE <i>One Dollar</i> (write Unit Price in words)	10	CY	\$ 1.00	\$ 5.00
S-2D.	FLOWABLE FILL <i>Three Hundred Dollars</i> (write Unit Price in words)	5	CY	\$ 1.00	\$ 10.00
S-3A.	FINAL PAVEMENT CURB TO CURB <i>Twenty - Nine Dollars</i> (write Unit Price in words)	5,000	SY	\$ 300.00	\$ 1,500.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <i>Three Hundred Dollars</i> (write Unit Price in words)	16	SY	\$ 29.00	\$ 464.00
S-3C.	GRAVEL DRIVEWAY <i>One Dollar</i> (write Unit Price in words)	8	SY	\$ 300.00	\$ 4,800.00
S-3D.	BRICK OR ROCK PAVERS <i>One Dollar</i> (write Unit Price in words)	26	SY	\$ 100	\$ 8.00
S-3E.	ASPHALT PRICE ADJUSTMENT ALLOWANCE <i>Eighteen Thousand And Two Hundred Sixty-One Dollars</i> (write Unit Price in words)		ALLOWANCE	\$ 100	\$ 26.00
S-4.	CONTAMINATED SOIL AND TRANSPORTATION <i>One Hundred Dollars</i> (write Unit Price in words)	10	CY	\$ 18,261	\$ 18,261
S-5.	MISCELLANEOUS CONCRETE <i>Three Hundred Dollars</i> (write Unit Price in words)	10	CY	\$ 100.00	\$ 1,000.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-5) <i>\$ 173,652.00</i>					
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-5) <i>\$ One Hundred Sixty - Three Thousand Six Hundred Fifty Two Dollars</i>					

PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY IF APPLICABLE )

NAME TUCCIA RONIE PLUMBING LLC  
ADDRESS 19 LINCOLN AVE  
CITY, STATE, ZIP E. BRUNSWICK N.J. 08816  
TELEPHONE: 732-764-0724  
FAX NO.  
TRADE PLUMBER  
LICENSE NO. 2900490

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

**PROPOSAL FORM – BID ITEMS**

**LEAD SERVICE LINE REPLACEMENT PROGRAM MANAGEMENT PHASE III**  
**CITY OF TRENTON, COUNTY OF MERCER, STATE OF NEW JERSEY**  
**FILE No.: SCE-R14020.011**

PROPOSAL FORM

TRENTON WATER WORKS

LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III

CONTRACT NO. 2025-32

BASE BID

THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A. WATER SERVICE REPLACEMENT TYPE 1 (MAIN TO CURB STOP)	<i>Three Thousand Seven Hundred Dollars.</i> (write Unit Price in words)	330	EACH	\$ 3,700	\$ 1,221,000
B. WATER SERVICE REPLACEMENT TYPE 2 (CURB STOP TO WATER METER)	<i>Three Thousand Six Hundred Dollars.</i> (write Unit Price in words)	270	EACH	\$ 3,600	\$ 972,000
C. NEW CORPORATION STOP AT MAIN	<i>Two Hundred Fifty Dollars.</i> (write Unit Price in words)	16	EACH	\$ 250	\$ 4,000
D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	<i>Five Hundred Dollars.</i> (write Unit Price in words)	6	EACH	\$ 500	\$ 3,000
E. RIGHT-OF-ENTRY NOT GRANTED	<i>One Dollar</i> (write Unit Price in words)	16	EACH	\$ 1	\$ 16
F. ACCESS NOT PROVIDED	<i>One Dollar</i> (write Unit Price in words)	16	EACH	\$ 1	\$ 16
G. CURB STOP IN CONCRETE	<i>Two Hundred Fifty Dollars.</i> (write Unit Price in words)	189	EACH	\$ 250	\$ 47,250
H. LONG-SIDE REPLACEMENTS	<i>Six Hundred Dollars.</i> (write Unit Price in words)	198	EACH	\$ 600	\$ 118,800
I. NEW CURB BOX	<i>Two Hundred Dollars.</i> (write Unit Price in words)	100	EACH	\$ 200	\$ 20,000
J. WATER SAMPLING	<i>Five Hundred Dollars.</i> (write Unit Price in words)	150	EACH	\$ 500	\$ 75,000
2. TEST PIT AT CURB STOP	<i>Seven Hundred Fifty Dollars.</i> (write Unit Price in words)	100	EACH	\$ 750	\$ 75,000

Underground Utilities Corp

<b>PROPOSAL FORM</b> <b>TRENTON WATER WORKS</b> <b>LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III</b> <b>CONTRACT NO. 2025-32</b> <b>BASE BID</b>					
<small>THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.</small>					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
3.	A. FINAL PAVEMENT RESTORATION (MILLING AND PAVING)  <u>Eighty Dollars.</u> (write Unit Price in words)	2,310	SY	\$ 80	\$ 184,800
	B. FINAL RESTORATION COMPLETED  <u>Five Hundred Dollars.</u> (write Unit Price in words)	270	SY	\$ 500	\$ 135,000
4.	ENVIRONMENTAL PROTECTION  <u>Five Thousand Dollars.</u> (write Unit Price in words)		LUMP SUM	\$ 5,000	\$ 5,000
5.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER ALLOWANCE  <u>ONE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
6.	TRAFFIC CONTROL ALLOWANCE  <u>ONE HUNDRED FOUR THOUSAND AND THREE HUNDRED FIFTY DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$104,350	\$104,350
7.	PERMITS FEE ALLOWANCE  <u>TWO HUNDRED EIGHTEEN THOUSAND AND NINE HUNDRED TWENTY-FIVE DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$218,925	\$218,925
  TOTAL BID PRICE IN FIGURES (1 through 7) <u>\$ 3,284,157.00</u> TOTAL BID PRICE IN WORDS (1 through 7) <u>\$ Three million Two hundred Eighty Four Thousand One hundred Fifty Seven Dollars.</u>					

PROPOSAL FORM  
TRENTON WATER WORKS  
LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III  
CONTRACT NO. 2025-32  
SUPPLEMENTAL BID

THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <i>One Dollar</i> (write Unit Price in words)	16	CY	\$ 1	\$ 16
S-2A.	FILL MATERIALS - IMPORTED COMMON FILL <i>One Dollar</i> (write Unit Price in words)	26	CY	\$ 1	\$ 26
S-2B.	CRUSHED STONE <i>One Dollar</i> (write Unit Price in words)	5	CY	\$ 1	\$ 5
S-2C.	DENSE-GRADED AGGREGATE <i>One Dollar</i> (write Unit Price in words)	10	CY	\$ 1	\$ 10
S-2D.	FLOWABLE FILL <i>Three Hundred Dollars.</i> (write Unit Price in words)	5	CY	\$ 300	\$ 1500
S-3A.	FINAL PAVEMENT CURB TO CURB <i>Thirty one Dollars.</i> (write Unit Price in words)	5,000	SY	\$ 31	\$ 155,000
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <i>Three Hundred Fifty Dollars.</i> (write Unit Price in words)	16	SY	\$ 350	\$ 5,600
S-3C.	GRAVEL DRIVEWAY <i>One Dollar</i> (write Unit Price in words)	8	SY	\$ 1	\$ 8
S-3D.	BRICK OR ROCK PAVERS <i>Two Hundred Dollars.</i> (write Unit Price in words)	26	SY	\$ 200	\$ 5,200
S-3E.	ASPHALT PRICE ADJUSTMENT ALLOWANCE <u>EIGHTEEN THOUSAND AND TWO HUNDRED SIXTY-ONE DOLLARS</u> (write Unit Price in words)		ALLOWANCE		
S-4.	CONTAMINATED SOIL AND TRANSPORTATION <i>One Hundred Fifty Dollars.</i> (write Unit Price in words)	10	CY	\$ 18,261	\$ 18,261
S-5.	MISCELLANEOUS CONCRETE <i>One Hundred Seventy Five Dollars.</i> (write Unit Price in words)	10	CY	\$ 150	\$ 1500
				\$ 175	\$ 1,750
	TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-5)			\$ 188,876.00	
	TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-5)			\$ One Hundred Eighty Eight Thousand Eight Hundred Seventy Six Dollars.	

**PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID  
(MANDATORY IF APPLICABLE )**

NAME Cooper Plumbing and Mechanical  
ADDRESS 40 Patterson Avenue  
CITY, STATE, ZIP Hamilton, New Jersey 08610  
TELEPHONE: 609-586-1813  
FAX NO. 609-589-1814  
TRADE Plumber  
LICENSE NO. 36B101079000

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

<b>PROPOSAL FORM</b> <b>TRENTON WATER WORKS</b> <b>LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III</b> <b>CONTRACT NO. 2025-32</b> <b>BASE BID</b>					
<small>THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.</small>					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
3.	A. FINAL PAVEMENT RESTORATION (MILLING AND PAVING)  <b>Seventy Three Dollars and Zero Cents</b> (write Unit Price in words)	2,310	SY	\$ 73.00	\$ 168,630.00
	B. FINAL RESTORATION COMPLETED  <b>Six Hundred Seventy Dollars and Zero Cents</b> (write Unit Price in words)	270	SY	\$ 670.00	\$ 180,900.00
4.	ENVIRONMENTAL PROTECTION  <b>Two Thousand Eight Hundred Forty Dollars and Zero Cents</b> (write Unit Price in words)		LUMP SUM	\$ 2,840.00	\$ 2,840.00
5.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER ALLOWANCE  <b>One Hundred Thousand Dollars</b> (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
6.	TRAFFIC CONTROL ALLOWANCE  <b>One Hundred Four Thousand And Three Hundred Fifty Dollars</b> (write Unit Price in words)		ALLOWANCE	\$104,350	\$104,350
7.	PERMITS FEE ALLOWANCE  <b>TWO HUNDRED EIGHTEEN THOUSAND AND NINE HUNDRED TWENTY-FIVE DOLLARS</b> (write Unit Price in words)		ALLOWANCE	\$218,925	\$218,925
TOTAL BID PRICE IN FIGURES (1 through 7)		\$ <b>3,762,920.00</b>			
TOTAL BID PRICE IN WORDS (1 through 7)		\$ <b>Three Million Seven Hundred Sixty Two Thousand Nine Hundred Twenty Dollars and Zero Cents</b>			

Waters & Bugbee

Waters & Bugbee, Inc.  
75 South Gold Drive  
Hamilton, NJ 08691

## PROPOSAL FORM – BID ITEMS

### LEAD SERVICE LINE REPLACEMENT PROGRAM MANAGEMENT PHASE III CITY OF TRENTON, COUNTY OF MERCER, STATE OF NEW JERSEY FILE No.: SCE-R14020.011

PROPOSAL FORM  
TRENTON WATER WORKS  
LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III  
CONTRACT NO. 2025-32

#### BASE BID

THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A. WATER SERVICE REPLACEMENT TYPE 1 (MAIN TO CURB STOP) <b>Four Thousand Four Hundred Twenty Five Dollars and Zero Cents</b> (write Unit Price in words)	330	EACH	\$ 4,425.00	\$ 1,460,250.00
	B. WATER SERVICE REPLACEMENT TYPE 2 (CURB STOP TO WATER METER) <b>Three Thousand Seven Hundred Ninety Dollars and Zero Cents</b> (write Unit Price in words)	270	EACH	\$ 3,790.00	\$ 1,023,300.00
	C. NEW CORPORATION STOP AT MAIN <b>Three Hundred Five Dollars and Zero Cents</b> (write Unit Price in words)	16	EACH	\$ 305.00	\$ 4,880.00
	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN <b>One Thousand Three Hundred Fifty Dollars and Zero Cents</b> (write Unit Price in words)	6	EACH	\$ 1,350.00	\$ 8,100.00
	E. RIGHT-OF-ENTRY NOT GRANTED <b>One Hundred Seventy Dollars and Zero Cents</b> (write Unit Price in words)	16	EACH	\$ 170.00	\$ 2,720.00
	F. ACCESS NOT PROVIDED <b>Seven Hundred Eighty Five Dollars and Zero Cents</b> (write Unit Price in words)	16	EACH	\$ 785.00	\$ 12,560.00
	G. CURB STOP IN CONCRETE <b>Four Hundred Fifteen Dollars and Zero Cents</b> (write Unit Price in words)	189	EACH	\$ 415.00	\$ 78,435.00
	H. LONG-SIDE REPLACEMENTS <b>One Thousand Three Hundred Sixty Dollars and Zero Cents</b> (write Unit Price in words)	198	EACH	\$ 1,360.00	\$ 269,280.00
	I. NEW CURB BOX <b>One Hundred Forty Five Dollars and Zero Cents</b> (write Unit Price in words)	100	EACH	\$ 145.00	\$ 14,500.00
	J. WATER SAMPLING <b>Six Hundred Seventy Five Dollars and Zero Cents</b> (write Unit Price in words)	150	EACH	\$ 675.00	\$ 101,250.00
2.	TEST PIT AT CURB STOP <b>One Hundred Twenty Dollars and Zero Cents</b> (write Unit Price in words)	100	EACH	\$ 120.00	\$ 12,000.00

Waters & Bugbee, Inc.  
75 South Gold Drive  
Hamilton, NJ 08691

PROPOSAL FORM TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III CONTRACT NO. 2025-32 SUPPLEMENTAL BID					
THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <b>Eighty Five Dollars and Zero Cents</b> (write Unit Price in words)	16	CY	\$ 85.00	\$ 1,360.00
S-2A.	FILL MATERIALS - IMPORTED COMMON FILL <b>Twenty Nine Dollars and Zero Cents</b> (write Unit Price in words)	26	CY	\$ 29.00	\$ 754.00
S-2B.	CRUSHED STONE <b>Forty Three Dollars and Zero Cents</b> (write Unit Price in words)	5	CY	\$ 43.00	\$ 215.00
S-2C.	DENSE-GRADED AGGREGATE <b>Thirty Six Dollars and Zero Cents</b> (write Unit Price in words)	10	CY	\$ 36.00	\$ 360.00
S-2D.	FLOWABLE FILL <b>One Hundred Fifty Five Dollars and Zero Cents</b> (write Unit Price in words)	5	CY	\$ 155.00	\$ 775.00
S-3A.	FINAL PAVEMENT CURB TO CURB <b>Twenty Three Dollars and Zero Cents</b> (write Unit Price in words)	5,000	SY	\$ 23.00	\$ 115,000.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <b>Three Hundred Thirty Five Dollars and Zero Cents</b> (write Unit Price in words)	16	SY	\$ 335.00	\$ 5,360.00
S-3C.	GRAVEL DRIVEWAY <b>Thirty Two Dollars and Zero Cents</b> (write Unit Price in words)	8	SY	\$ 32.00	\$ 256.00
S-3D.	BRICK OR ROCK PAVERS <b>Two Hundred Sixty Dollars and Zero Cents</b> (write Unit Price in words)	26	SY	\$ 260.00	\$ 6,760.00
S-3E	ASPHALT PRICE ADJUSTMENT ALLOWANCE <b>EIGHTEEN THOUSAND AND TWO HUNDRED SIXTY-ONE DOLLARS</b> (write Unit Price in words)		ALLOWANCE	\$ 18,261	\$ 18,261
S-4.	CONTAMINATED SOIL AND TRANSPORTATION <b>Two Hundred Fifty Dollars and Zero Cents</b> (write Unit Price in words)	10	CY	\$ 250.00	\$ 2,500.00
S-5.	MISCELLANEOUS CONCRETE <b>Five Hundred Sixty Dollars and Zero Cents</b> (write Unit Price in words)	10	CY	\$ 560.00	\$ 5,600.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-5)		\$ <b>157,201.00</b>			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-5)		\$ <b>One Hundred Fifty Seven Thousand Two Hundred One Dollars and Zero Cents</b>			

**PROVIDE A LIST OF SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID**

**(MANDATORY IF APPLICABLE )**

NAME PLUMBER IN HOUSE / SELF PERFORMED (License Attached)  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

<b>PROPOSAL FORM</b> <b>TRENTON WATER WORKS</b> <b>LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III</b> <b>CONTRACT NO. 2025-32</b> <b>SUPPLEMENTAL BID</b>					
<b>THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.</b>					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET  <u>Two Hundred Seventy Five Dollars</u>  (write Unit Price in words)	16	CY	\$ 275.00	\$ 4,400.00
S-2A.	FILL MATERIALS - IMPORTED COMMON FILL  <u>Two Hundred Seventy Two Dollars</u>  (write Unit Price in words)	26	CY	\$ 272.00	\$ 7,072.00
S-2B.	CRUSHED STONE  <u>Two Hundred Eighty Five Dollars</u>  (write Unit Price in words)	5	CY	\$ 285.00	\$ 1,425.00
S-2C.	DENSE-GRADED AGGREGATE  <u>Two Hundred Eighty Dollars</u>  (write Unit Price in words)	10	CY	\$ 280.00	\$ 2,800.00
S-2D.	FLOWABLE FILL  <u>Three Hundred Sixty Five Dollars</u>  (write Unit Price in words)	5	CY	\$ 365.00	\$ 1,825.00
S-3A.	FINAL PAVEMENT CURB TO CURB  <u>Three Hundred Twenty Dollars</u>  (write Unit Price in words)	5,000	SY	\$ 320.00	\$ 1,600,000.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE  <u>Three Hundred Forty</u>  (write Unit Price in words)	16	SY	\$ 340.00	\$ 5,440.00
S-3C.	GRAVEL DRIVEWAY  <u>Two Hundred Fifty</u>  (write Unit Price in words)	8	SY	\$ 250.00	\$ 2,000.00
S-3D.	BRICK OR ROCK PAVERS  <u>Three Hundred Ten Dollars</u>  (write Unit Price in words)	26	SY	\$ 310.00	\$ 8,060.00
S-3E	ASPHALT PRICE ADJUSTMENT ALLOWANCE  <u>EIGHTEEN THOUSAND AND TWO HUNDRED SIXTY-ONE DOLLARS</u>  (write Unit Price in words)		ALLOWANCE	\$ 18,261	\$ 18,261
S-4.	CONTAMINATED SOIL AND TRANSPORTATION  <u>Five Hundred Sixty Dollars</u>  (write Unit Price in words)	10	CY	\$ 560.00	\$ 5,600.00
S-5.	MISCELLANEOUS CONCRETE  <u>Five Hundred Seventy Five Dollars</u>  (write Unit Price in words)	10	CY	\$ 575.00	\$ 8,625.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-5)		\$ 1,665,508.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-5)		One Million Six Hundred Sixty Five Thousand Five Hundred Eight Dollars \$			

**PROPOSAL FORM – BID ITEMS**

**LEAD SERVICE LINE REPLACEMENT PROGRAM MANAGEMENT PHASE III**  
**CITY OF TRENTON, COUNTY OF MERCER, STATE OF NEW JERSEY**  
**FILE No.: SCE-R14020.011**

PROPOSAL FORM  
TRENTON WATER WORKS  
LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III  
CONTRACT NO. 2025-32

THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE  
ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A. WATER SERVICE REPLACEMENT TYPE 1 (MAIN TO CURB STOP) Four Thousand Dollars (write Unit Price in words)	330	EACH	\$ 4,000.00	\$ 1,320,000.00
	B. WATER SERVICE REPLACEMENT TYPE 2 (CURB STOP TO WATER METER) Five Thousand Dollars (write Unit Price in words)	270	EACH	\$ 5000.00	\$ 1,350,000.00
	C. NEW CORPORATION STOP AT MAIN Two Thousand Dollars (write Unit Price in words)	16	EACH	\$ 2,000.00	\$ 32,000.00
	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN Seven Thousand Five Hundred Dollars (write Unit Price in words)	6	EACH	\$ 7,500.00	\$ 45,000.00
	E. RIGHT-OF-ENTRY NOT GRANTED Four Hundred Fifty Dollars (write Unit Price in words)	16	EACH	\$ 450.00	\$ 7,200.00
	F. ACCESS NOT PROVIDED Four Hundred Fifty Dollars (write Unit Price in words)	16	EACH	\$ 450.00	\$ 7,200.00
	G. CURB STOP IN CONCRETE One Thousand Seven Hundred Thirty Five Dollars (write Unit Price in words)	189	EACH	\$ 1,735.40	\$ 327,990.60
	H. LONG-SIDE REPLACEMENTS Seven Thousand Five Hundred (write Unit Price in words)	198	EACH	\$ 7,500.00	\$ 1,485,000.00
	I. NEW CURB BOX Six Hundred Twenty Seven Dollars and Five Cents (write Unit Price in words)	100	EACH	\$ 627.05	\$ 62,705.00
	J. WATER SAMPLING Six Hundred Fifty Dollars (write Unit Price in words)	150	EACH	\$ 650.00	\$ 97,500.00
2.	TEST PIT AT CURB STOP Seven Hundred Twenty Five Dollars (write Unit Price in words)	100	EACH	\$ 725.00	\$ 27,750.00

PROPOSAL FORM TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT PHASE III CONTRACT NO. 2025-32 <b>BASE BID</b> <small>THIS PROJECT IS FUNDED THROUGH THE EPA WIN PROGRAM. THE TOTAL DOLLAR AMOUNT OF THE CONSTRUCTION PROJECT WILL NOT EXCEED THE FUNDS AVAILABLE. THE NUMBER OF WATER SERVICE LINES WILL BE ADJUSTED BASED ON THE ACCEPTED UNIT PRICE BID TO STAY WITHIN BUDGET.</small>					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
3. A.	FINAL PAVEMENT RESTORATION (MILLING AND PAVING)  Three Hundred Fifty Two Dollars (write Unit Price in words)	2,310	SY	\$ 352.00	\$ 814,275.00
B.	FINAL RESTORATION COMPLETED  One Thousand Five Hundred Ninety One Dollars and Seventy Cents (write Unit Price in words)	270	SY	\$ 1,591.70	\$ 429,759.00
4.	ENVIRONMENTAL PROTECTION  One Hundred Thousand Dollars (write Unit Price in words)		LUMP SUM	\$ 100,000.00	\$ 100,000.00
5.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER ALLOWANCE  One Hundred Thousand Dollars (write Unit Price in words)		ALLOWANCE	\$100,000	\$100,000
6.	TRAFFIC CONTROL ALLOWANCE  One Hundred Four Thousand And Three Hundred Fifty Dollars (write Unit Price in words)		ALLOWANCE	\$104,350	\$104,350
7.	PERMITS FEE ALLOWANCE  Two Hundred Eighteen Thousand And Nine Hundred Twenty-Five Dollars (write Unit Price in words)		ALLOWANCE	\$218,925	\$218,925
TOTAL BID PRICE IN FIGURES (1 through 7) <u>\$ 7,635,604.60</u> <small>Seven Million Six Hundred Thirty Five Thousand Six Hundred Four Dollars and Sixty Cents</small> TOTAL BID PRICE IN WORDS (1 through 7) <u>\$ </u>					